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1.) | Din oficiu 1p
36" +11-6" +28=
=(6"f +4-6"+7-6"+4.7=6"-(6"+4)+7-(6" +4)=(6" +4)6" +7) 4p
5.6"+35=5.(6" +7) 1p
36" +11:6" +28 6" +4 1p
5-6" +35 5
Pentru orice ne N”: ultima cifrd a lui 6" este 6, astfel ultima cifrd a sumei 6" + 4 2p
este 0, asadar (6”+4)§5,deci6 +4EN.
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3.) | Din oficiu 1p
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3) | ABAC : m(<rA) = 90°, AD mediana = AD = % — AD =10 (cm). 2p
MA L (ABC) = pI s5¢,MD = DA=> <(MD, (ABC)) = <MDA 1p
1p
AMAD : m(<A) = 90° = tg(«<MDA) = MA_12_%
DA 10 5
b) | MA L (ABC)] T3? .
) (ABC) | \iE L BC = = Aypc = BC-ME
AE 1 BC 2 1p
AADC : AD = DC = m(<DAC) = m(<«ACD) =15°
m(<ADE) =30° (unghi exterior) = AAED: AE = A—2D =5cm. 2p
t.Pit. .
AMAE : m(«A) = 90° = ME =13cm = A, = % ~130(cm?). 1p
4.) | Din oficiu 1p
D " a) desen 1p
/ || \ /’ ) ,,f"/
ijf‘,..-»l'*. “\ r/’ [AM]=[M8] = MN || AC (I.m)
IO N [BN]=[NC] = A'C'[|MN 1p
ik A'C'CAdreptunghi = A'C'|| AC
L% %
F ) A'C'[|MN 1p
L\ O\ | = A'C'||(D'MN)
; L\ 0\ MN < (D'MN)
D ___'—-‘ =, 'I \‘\
"?_\ji_*,.__\"j{__..-—j’ b) MN A DB ={S}, AC ~ DB ={O}
£ ANGs ,m—/;:.f’ D'D L (ABC) 1p
~ B T3P
= = N DS L AC = D'S L MN
= DS L MN
AC || MN
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(D'MN)~ (ABC) = MN
D'S L MN,D'S = (D'MN) { = «((D'MN),(ABC)) = «D'SD 1p
DS L MN, DS < (ABC)
DS =D0+0s =28, P8 _3pg_ 3. aByZ =342 (cm) 05p
2 4 4 4
D'D 36 05p
AD'DS :m(«D) = 90° = tg(«D'SD) = —— = == = /3 = m(«D'SD) = 60°
(«D) 9( )="5s 2 ( )
) | MNLD'S
— MN L (D'DS)
MN L DS — (D'DS) L (D'MN) 1p
MN < (D'MN)
D'DS)~(D'MN)=D'S 1
(D7DS) A (D'MN) = d(D,(D'MN)) = DT P
DT LD'S
t.Pit.
AD'DS :m(«<D) =90° = D'S = 642 05p
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